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R o | BT e | B2 | e | e | B2 | B TR e | B2 | T | & | T
’ 100kN/mM%#BZ 5% -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 6.24 78.35| #n LSt |0.00 ~ 6.24| 1.94 10.38 s 1.00f 500 ~ 7.84 78.35| #nLlst | 5.00 ~ 7.84| 1.94 10.38
9 100kN/mM##BZ 5 -l -~ - -|3mEBZ 5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00]0.00 ~ 591 74.03| F=hLls 1000 ~ 591 2.11 11.30 s 1.00f 500 ~ 8.60 7403 #hlst | 500 ~ 860 2.11 11.30
3 100kN/mM%#BZ 5 -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 5.70 71.27| #=h L4t 1000 ~ 570 2.08 11.13 s 1.00f 500 ~ 7.87 71.27| =4+ | 500 ~ 7.87| 2.08 11.13
4 100kN/mM%#BZ % -l -~ - -|3mEBZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
ZHnLs 1.00/0.00 ~ 523 65.19] ZhLlst | 000 ~ 523| 2.32 12.41 s 1.00f 500 ~ 9.67 65.19| Z=hllst | 5.00 ~ 9.67| 2.32 12.41
5 100kN/m##8 %% 1.00{0.00 ~ 1.98 130.62| 3m%*x#B2 5% -~ - - —| 100kN/mM%#2 % % 1.00{ 10.83 ~ 18.03 130.62| 3m%x#B 25 -~ - - -
s 1.00]1.98 ~ 9.77 100.00f Zhl4t |0.00 ~ 9.77] 2.31 12.39 s 1.00f 5.00 ~ 10.83 100.00f Z=hkl4t+ | 5.00 ~ 18.03| 2.31 12.39
6 100kN/m##8 %% 1.00{0.00 ~ 1.22 118.39| 3m%x#B2 5 -~ - - —| 100kN/mM%#B % % 1.00{ 13.29 ~ 18.23 118.39| 3m%x#B 25 -~ - - -
s 1.00{1.22 ~ 9.00 100.00f Z=hki4t | 0.00 ~ 9.00] 2.09 11.20 s 1.00f 500 ~ 13.29 100.00f Z=hkl4t+ | 5.00 ~ 18.23| 2.09 11.20
7 100kN/mM%#BZ 5 -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
zh st -l -~ - -| Fhiist -~ - - - st - -~ - -| Zh st -~ - - -
8 100kN/mM%#BZ % -l -~ - -|3mZEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
zh st -l -~ - -| Fhiist -~ - - - st - -~ - -| Zh st -~ - - -
9 100kN/m##8 %% 1.00{0.00 ~ 1.59 124.26| 3m%x#B2 5% -~ - - —| 100kN/mM%#B % % 1.00{ 11.14 ~ 16.58 124.26| 3m%x#B 25 -~ - - -
s 1.00]1.59 ~ 9.37 100.00f Z=h 4t | 0.00 ~ 9.37| 2.57 13.78 s 1.00f 500 ~ 11.14 100.00| Zhkl4t+ | 5.00 ~ 16.58| 2.57 13.78
10 100kN/m##8% % 1.00{0.00 ~ 0.02 100.30| 3m%*#B 25 -~ - - —| 100kN/mM%#8 % % 1.00{ 11.38 ~ 11.44 100.30| 3m%*#B 25 -~ - - -
s 1.00]0.02 ~ 7.81 100.00f Zh st |0.00 ~ 7.81] 2.41 12.87 s 1.00f 500 ~ 11.38 100.00| Zhlst | 5.00 ~ 11.44| 2.41 12.87
» 100kN/mM%#BZ 5 -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 7.08 89.97| #h L4t | 000 ~ 7.08] 1.98 10.60 s 1.00f 500 ~ 991 89.97| #=h L4+ | 500 ~ 991 1.98 10.60
12 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
ZHnLs 1.00/0.00 ~ 740 94.50| Zh L4t |0.00 ~ 7.40| 2.36 12.63 s 1.00f 500 ~ 10.12 94.50( #h st | 5.00 ~ 10.12| 2.36 12.63
13 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 746 95.30| #h L4t |0.00 ~ 7.46| 1.93 10.34 s 1.00f 500 ~ 11.43 95.30f #h L4t | 5.00 ~ 11.43| 1.93 10.34
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
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